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And is then this the manner of weaving — 722 7R 177 0

OVERVIEW

The & m3 said that n>73 (braiding the hair) is 211 because it is like weaving. The
X3 asked, is weaving done in this manner (as braiding). N1®0I1n reconciles our
X3 with a seemingly contradictory X773,

mooIn anticipates a difficulty:
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And even though braiding threads of goats’ hair is considered weaving as '
711m1 stated in WK 77722 PO —

mooin replies; nevertheless -
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Here by braiding the hair it is not considered weaving as it is there, where he is

weaving the goat’s hairs into a garment -
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And furthermore; here the braiding will not last, for eventually it will be
taking apart. However, there the braided garment will last.

SUMMARY
Braiding goats’ hair for a garment is considered weaving (since it will also last),
braiding hair cannot be considered weaving (a garment, and it also does not last).

THINKING IT OVER
Is the deciding factor for something braided to be considered woven that it is for a
garment (of sorts), or that it is lasting??

! The x> there states that a sack is also AxmWw 92pn. 1M ' explained that it is IX™W 92pn since a poor man braids
together three threads of goats hair and makes a necklace of it for his daughter. Therefore this too is considered a
woven garment.

2 She is not weaving a garment, she is merely braiding hair.

3 What if it is braided for a garment, but not lasting, or it is lasting but not for a garment?!

TosfosInEnglish.com



